8th Grade Integrated Science



Standard 2, Objective 3

Multiple Choice

a1.  Which of these human activities attempts to restore a natural environment?

A.  mining for metals

B.  planting a tree

C.  farming for wheat

D.  building a bridge

a2.  How is an “old growth” forest (one that has never been logged) different from a replacement forest planted by humans?

A.  Old growth forests have more biodiversity.

B.  Old growth forests have less biodiversity.

C.  Replacement trees will become larger.

D.  Replacement trees will grow slower.

a3.  Why are scientists concerned about the destruction of rain forests?

A.  Much of the wood harvested is going to waste.

B.  Many species of plants and animals are lost.

C.  People living nearby will not stay in these areas.

D.  Animals must change their diets to eat the new foods.  

a4.  A newspaper reporter notices that a pair of peregrine falcons have built a nest on her building.  Over the next 2 months, she watches them hatch their eggs, feed the chicks and teach them to fly.  She writes a weekly report for the newspaper and documents their growth and behavior.  How has the reporter used scientific methods?

A.  she has written about the things that are important to her.

B.  she has asked other people in her office to help watch the falcons.

C.  she has appreciated the beauty and wonder of nature.

D.  she has made observations, recorded and reported them.

a5.  When land is cleared for paving a parking lot, what happens to the ability of that land to support living things?

A.  the number and kind of living things will be greatly reduced.

B.  the number and kind of living things will be greatly increased.

C.  the organisms that once lived there will go to another place.

D.  the organisms that once lived there will become extinct.

Read this article and look at the underlined sentences and use them to answer the next three questions.

Vanishing Frogs
     All around the world, familiar faces are disappearing: the population of frogs and other amphibians is in a serious decline.   The loss of such a broad range of species is deeply unsettling. Amphibians are one of the hardest hit groups.1.  Frogs and other amphibians have been called thermometers that indicate the health of the environment. 2.  The permeable skin through which they breathe and drink makes them vulnerable to environmental degradation. In addition, they have variable diets and they live in both water and on land, making them highly sensitive to changes in their surroundings. 

      Researchers from Australia, the United States, and Great Britain recently uncovered one surprising culprit. The researchers discovered that a previously unknown fungus--a species of aquatic fungi yet to be named--has been attacking frogs in Central America and Australia. 3. This fungus was found in ten frog species and has been shown to kill frogs in laboratory trials. 


b6.  In sentence 1, frogs are compared to a thermometer.  If the number of frogs goes down, what may happen to the environments they live in?

A.   the environments will be colder.

B.   other locations will have an increase in frog numbers.

C.   the environment may not support other living things

D.   snake populations will rise to make up for missing frogs. 

b7.  What type of statement is number 2?

A.   It is a question because one knows if it is true.

B.   It is an inference based on data.

C.   It is a procedure describing a scientific method.

D.   It is an essay because it is a complete sentence.

b8.  What type of statement is number 3?

A.   It is a question because no one knows if it is true.

B.   It is a conclusion because it is at the end of the article.

C.   it is evidence because it is based on data.

D.   it is an opinion because it is a complete sentence.

 Use this information to answer the next two questions:

Two magazines publish articles about possible extinction of a spectacular species of bird.  Magazine X is sold in grocery stores and contains articles written by their staff about movie stars and culture. Magazine Y is sold to subscribers that include universities and libraries.  The articles are submitted by researchers and reviewed by biologists.  The magazines disagree about whether the bird faces extinction. 

b9.  Which magazine will contain the most trustworthy argument related to the birds?

A.  magazine X because more people will read it.

B.  magazine X because it contains more pictures and facts

C.  magazine Y because it uses conclusions based on data

D.  magazine Y because scientists are never wrong


b10.  A student reads both articles wonders which version is correct.  What could the student do that would most accurately prove which is right?

A.   Ask a friend what they think might be true.

B.   Write to both magazines and ask them to explain their stories

C.   Look for more information from trustworthy sources.

D.   Ask readers of both magazines to say what they think.

Use this information to answer the next two questions.


c11.  Later, other scientists discovered that some of the same chemicals in pesticides that damaged birds were also harmful to humans.  What does this show about the nature of scientific information?

A.  not everyone can become a scientist

B.  scientific discoveries are made all at once.

C.  one scientific discovery often leads to another. 

D.  some types of science are more important than others

c12.  The information showing damage to humans provided more reasons to stop using the pesticides.  What does this show about the nature of science?

A.  scientific discoveries can make life better for humans. 

B.  all important scientific discoveries occur by accident.

C.  not everyone can become a scientist

D.  chemicals placed in the environment are rarely harmful.

c13.  What effect does bird extinction have on food webs?

A.  deer and other primary consumers lose food sources.

B.  producers decrease because of lost food sources

C.  humans populations increase without bird populations.

D.  Insect populations increase without birds eating them 

c14.  Which human activities are most disruptive to food chains?

A.  controlled hunting of prey animals

B.  reducing the number of natural forest fires

C.  removing natural ecosystems to plant crops.

D.  spraying crops to control grasshoppers.

c15.   How would hunting predators to extinction in an environment alter the food web?

A.  Few changes would result since predators are at the top of the web.

B.  Producers would decline as numbers of consumers increased.

C.  More plants would be able to grow and get larger. 

D.  Prey animals would have fewer offspring and eat less.

Use this information to answer the next two questions:

d16.  What is an argument the lumber company might use to convince people to allow them to cut the trees?  Cutting the trees will

A.  provide jobs and lumber for people to use.

B.  help the owl species to survive and reproduce.

C.  provide food for the animals that prey on the owl

D.  provide food for the animals the owls eat.

d17.  What is an argument the environmental community might use to convince people NOT to allow the company to cut the trees?  Cutting the trees will

A.  create more shade and conserve moisture

B.  endanger the population of the owl.

C.  allow more trees to grow in their place.

D.  allow more grass to grow and feed more deer.

d18.  The introduction of wolves into ecosystems in the Western United States has been controversial.  Environmentalists say the wolves should stay because they are part of the natural ecosystem. Ranchers say they will prey on their livestock.  How would a scientist respond to this controversy?

A.  Design an experiment to collect evidence on the diet of wolves.

B.  See whether ranchers or environmentalists supported scientists.

C.  Advise politicians whether wolves or livestock are more important.

D.  Study the ecosystem to see which parts are most important.

Essay

1.  Describe how clear-cutting a forest changes the environment.   List at least 3 changes.

2.   Describe how a pond environment would change without frogs.  Give two specific examples.  

Answers:

1.  B

2.  A

3.  B

4.  D

5.  A

6.  C

7.  B

8.  C

9.  C

10.  D

11.  C

12.  A

13.  C

14.  C

15.  B

16.  A

17.  B

18.  A

Interpretive Answers

1.  evidence

2.  inference

3. evidence

4.  inference

5.  inference

6.  evidence

7.  evidence

8.  inference

9.  evidence

10.  inference

Sample Answers.

1.  Logging a forest changes it.  It no longer can support the wildlife it once did, water runs off more quickly, temperatures on soil change, new growth is different that old.

2.  Frogs eat insects so there would be more insects.  Snakes and birds that eat frogs would lose a food source.  
In her book “Silent Spring”, Rachel Carsen alerted the world to the damage pesticides had on birds.  Steps were then taken to outlaw the use of the harmful chemicals.  Bird populations increased as the survival rate of the offspring improved.





A species of owl requires old growth trees to survive.  A lumber company wants to cut the trees and replace them with young trees.  











